2025/10/15 16:36 1/4 0000 (SA)

0000 (SA)

oo
00000000000
googo

OO0O0O000s1is000

“ 00 $i$"0000 %is000000oDooo

googoggn

0000 (Suffix Array)0 00 00 O 0OJ%$sa$ O $rks]

O00%salil$ 00000000000 $is0000000ps$rklil$000OD $is000O0O

00000000 aQssalrklill=rklsalill=i$[]

googoogo
Rank= 4 6 8 1 2
a b a a a b

sal[l]=4 a a a a b
sal[2]=b a a a b
sal[3]=6 a a b
sal4]=1 a a b a a a a b
sa[b]=7 a b
sa[6]=2 a b a a a a b
sal[7]=8 b
sa[8]=3 b a a a a b

CVBB ACM Team - https://wiki.cvbbacm.com/


https://wiki.cvbbacm.com/lib/exe/fetch.php?tok=b844e5&media=https%3A%2F%2Foi-wiki.org%2Fstring%2Fimages%2Fsa1.png

Last
;ggg}g;/n 2020'2021:‘63;5%3922'—5”'”915 B https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:%E5%90%8E%ET%BC%B0%E6%I5%BO%ET%BB%84 lgwza&rev=1595577903

16:05

googoggn

O(n~2\log n) O O

000000000000 0000000 string+sort000000000O0OO0OO0O $0(n)$
OO0D0o0Ooog $0(n~2\logn)$ OO

O(n\log~2n) O O

goboooobobooooo
OoOo0oobDosisooooooooboboooooDon

000000000000 $w$sOOOODOO $rk wil..n]$ 000 $rk wlil$ OO $s[i.\min(i+w-1,n)1$
O $\{s[x.\min(x+w-1,n)]|x\in[L,n\}$ O 000000000 $rkwli]$0000000%rk wli+wl]$ O
0000000 $i+w>n$ 00 $rkwli+w]$ OO OOO0O00OOCOO0O0D0OOCOO $rk {2w}[1..n]$0

gooooooon

a a a a a b
2LnEF | | |
rank 1 1 1 1 i KEHI

x v |11 1 2121 1111111
BT | | | | |
2 4 1 1

|| |
A A AL A%
|

rank KEH2
%W|
X vyl
s || | | | i |
rank | 4 6 8 2 3 5 7 KB A4

1
X vy|142](63185|17[20/30|50|70

szt || | | | ] |
rank | 4 6 8 1 2 3 5 7 KEAS

https://wiki.cvbbacm.com/ Printed on 2025/10/15 16:36


https://wiki.cvbbacm.com/lib/exe/fetch.php?tok=09a388&media=https%3A%2F%2Foi-wiki.org%2Fstring%2Fimages%2Fsa2.png

2025/10/15 16:36 3/4 0000 (SA)

O00sortd00OO0O0O0O0O0O $0(n\log™2n)$0 0

googd

#include <algorithm>
#include <cstdio>
#include <cstring>
#include <iostream>

using namespace std;

const int N = 1000010;

char s[N];

int n, w, salNJ], rkIN << 1], oldrk[N << 1

/000000 rk[i+w] O0OODOODOOODOODOO
/fU00000dbobooob0oboooobobouooooboog

.
’

int main
int i, p;

scanf("%s", s + 1);
n = strlen(s + 1);
i=1; i<=n; ++i) salil =1, rkli] = s[i];

w=1;,w<n; w<<=1
sort(sa + 1, sa +n + 1, int x, int y
rkix] == rkly] ? rkix + w| < rkly + w| : rkix] < rkly]l;
; /00000 lambda
memcpy (oldrk, rk, sizeof(rk));
//O0000 rk O0O0O0OO0O0 rk OOOOOOOOOOO
p=0,1i=1; i<=n; ++i

oldrk|sali == oldrk|sali - 1 &&
oldrklsal[i] + w| == oldrk[sali - 1] + w
rklsalil| = p;
rkisalil! = ++p;

/0000000000000 rk DOOOODOODOO

i=1; i<=n; ++1i) printf("%sd ", salil

’
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